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‘ If@eh WM Linear Programming '

+* The mathematical experience of the student is incomplete if he never had
the opportunity to solve a problem invented by himself. — G POLYA ¢

12.1 gfHeRT (Introduction)

et swensti & gq Wasw il ot fa ufa G 1 jeaeaidin .
TrEnet | 3 Sryan W foer-famsl e weh &) wen :
XI¥ g < = UMl are e srafbeme it e
srafaeien o el & st feun 9 g e &
famg & stemm w9k ¥ v § ¢ ergwEnt H
sTafRTeT /Ao o e aftmfed &1 39 s1e | 89
o stgeme/aden & fer & A= S w© 5w
Irfeeh Sieq i GaENStl Sl B HH B STAN H|
Teh WA SO q aegetl S oW IR pfEEr
FraaE w81 fEw & fm ' 9 Rs 50,000 3R
@R % o sae 60 a&gel % oy T 81 TH B W
Rs 2500 3% T &l W Rs 500 &1 @@ A 21 o L. Kantorovich
A Tl © foh ok W1 1 el o8 Rs 250 3R Tk ol shi o= & Rs 75 o1
A1 HAT Tehdl &1 A AT foF o qeft segetl 1 o= Tkt € fSeht o6 o7 wlisa
? @9 9 S =edl @ fh fhalt Oe e e ) wde = af suere fe
TR W IR Tohel o 31ferhay 2l
TG YRR 61 gHEnS Y =T YRR T gEeel § oy o1 sttt i
AT 1 ZIATHIHL0T G 1 J919 a1 Sl 2, $eauehil T9emd seelidl 21 o7d:
TRAARN I | AfUsha™ oY, ZAq9 RId I1 ST 1 =Had S9ar gfmfed 2
sk o Taed Tk e Wi T HEvequl YR i SedHRi HHET § @i
SR Sfedigd seansil gae Wi Tw s GumT gEe 81 SE, |,
veier Tare efe o foga geaan o R ek ume quend et qew i €
TE A H, B9 o e WIHA FHETd 3R S+l el Tt grt ea e
1 R FU| TEf 9 THR GHEET #1 g Heen o fau o= fafEi i 2
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12.2 Iaesh WurH o iR SHeRT T AT (Linear Programming

Problem and its Mathematical Formulation)

T SO T Tt STiierd ST o W1 URY hid € S foh <1 =) Uil el geen
o TIUT G0l ST2fe T Jid&d 1 AR STl 36 IS0 § 61 S g
@ &
() =R 1o G Al 1 ASH A A a1 <A ok G o e e wehdr )
o AfdRe o faw o fafv= s fafie 9@ fafa= oy s g
(i) o Nl meweyol fefaal o1 sreriel &1 ff quEy @ S8 SHen faw aftma
Rs 50,000 7 Hifrd € qen SHoh G Afushdd 60 a&gstl 1 W@ o g wom
IueTed 2
M AT o o 1S el TEl @ligal shaet Asii o @iied w1 e s €,
AT 98 50,000 <+ 2500, A 20 Al 1 TS Gehal 71 39 feafd & 3@t Gehed oy
Rs (250 x 20) a1 Rs 5000 g
M AT o e g B 7 TUKHT hael HIal € TEA 1 =97 il 21 e
€ T TS Rs 50,000 T T H 50,000 + 500, 3FeAiq 100 HTE=T €1 @R Fehell
21 W o8 el 60 T 1 B T Hehdl B 3Td: 98 60 ShiGE! W WIS ok ferq we
g 998 38 g oy Rs 60 x 75 3 Rs 4500 & &l
Tt @i off o Ot HareTd €1 ST o fore T 10 W SR 50 it @i
1 =T T ohal 7, Fleh ST T 60 T&G3T 1 T H1 T I B 79 feafq
H IHH Fwa ¥ Rs (10 x 250 + 50 x 75), AL Rs 6250 AR
3: BH TG W ¢ Toh e oA Tt = fafeai o g ot o= ufdn &6
o9 Y Fehal @ AR fafq= et arsmisti &1 STaameR fafa=T o9 e Sopm|
319 R IE 2 T 39 SO om Uity o6t sifehan o U e o faw fRe geR
e T =few? 39 YA 1 SR A ok foru oW T 1 M Gt S w6
T T AMEl

12.2.1 GHET T 7Tt '\’fﬁw (Mathematical Formulation of the Problem)
T AT fop Asi 1 T x 3R i w1 ge y @ 5 st e wliEd 2
TIRA: X 3R y HORR €, 21efq

x>0 (R ) (D)
y=0 . (2)

Hifr o=l iR pfdal # gen worEs TEl e gehdt 2
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IR (HFERT) W AfrwRdd o9 R (TR T Rs 50,000 ®) w1 FOW HH w1
eI § IR AR o U ohee Mfushad aeqel (Tl F8 60 §) i W@ o fog
T 1 R B

T ®9 § e FH W

2500 + 500y < 50,000 (frewT =raw )
a1 5x+y <100 .. (3
R X+ Yy <60 (TR ) (@)

R 28 YRR G o9 1 9edl © STHT oY Z (TN SAfiehan 8 &)
X AR yoh Her & &Y § Frefafegd geR o oFe fhar s "ol 8:

7 = 250x + 75y (S2IM He FHEedl 2)
Yo GEE] R 379 T w9 § qietdd 8 S e
Z = 250x + 75y 1 Afehaeishior Hifse

et =eRy FrefatEd @
5X+y <100

X+Yy<60
x>0, y=20

Ty & ash o Z 1 SAfshaeienol S @ e B = el Haw
sttt & ®9 Fo faem frefml & =rety = fee T E) g o= gaed of
& TS Yaen wer o1 =[AaHTeRor TR ST § Seifsh ol =R ol e srafiensi
& w9 H g faviv fraf@l o oreriy =9 fohy i 21 UE gmeet 1 Waw g
TOE Fed

q: ek Iaeh FITHA THE 98 T9E € S o X @IR y S %9 3He =R & T
g wer Z (ST 29 Fo Feeldl §) 1 $edd gEd/Sgedd GHTd e
(SAfersha® = =IAqH ) 1 hH W Heiferd 21 ided 7g ¢ foh =R SRui quiies § 3fR
3 ek sraftemet o qgeea aw =Rl w1 g i € fas 75 9 aed ©
oe o gt it dey e ® Sefn gumE 9@ aed @ o fasi diom o e
ExRIRISEIES cRCTEl

M 9gH W Yd €9 e o I (FAAR T S E g ) 1 i w9 9
R w0 fent for wam g9 e g gmeet § s
ILTT el Eh BeM Z = ax + by, S a, b =R ¢ fSFep stfusmasienor =
FAHIH 1 § Tk e $E99 el Hedrl Bl
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SWeR SR | Z = 250X + 75y T aeh Se9d Her €1 = x 3Ry foias
T FEAM B
=AY T ek U qHE & o0 W ek sEfyest @ e @ gfaay
Y HEA | Tldsel x> 0, y> 0 R0 el hedd 81 Iue Se | (1)
T (4) q% FEHESA HT GH=IT FRY FHEd Bl
AW YOI GG Y= e o o1 srafasiet o ayes gr i wwen
S ERT (TN Y W xR y ) H W@k B Hi Afhad A1 AaH Y, 3Ead gETd
T e 81 Waw JEd gaed T fafine yeR s gead gETd 96e 2l
GETd GRS AR 5/ Al qe Hidat i B § Tgo Toh 5aq Gaid Ioe qei
g GO 1 GEER F TH IS B

319 &9 faa=m w01 foF e s 9T g9 1 79 THR 8 R S R
T ™ H ¥H chad sTerd@ fafy @ € gafua wil

12.2.2 Iaer QT quEnsi’ &t g7 &vq & SIrEid fafer (Graphical Method
of Solving Linear Programming Problems)

well X1, g9 i goh © o o R < =1 x 3R y § Gaifea Waw sraeienon
el w1 @ Wiwd € qe SREE fafy g ge o i € T B STEeR 12.2
H fod=m &1 g2 O iR pfdal & a9 &1 e #1 Sooi@ | 379 B9 39 GHE
H1 IRG N A FUN 376 g ok FIHEN & § Y9 AR H1 3@ G

5X+y<100 .. (1) Y
X+Yy<60 .. 2)

x>0 .. 3)

y=>0 . (@)

g ™ &1 s (Brfera &) |
RN (1) ¥ (4) d% & g0 @
gft srefaell & S fogel @ ffifa €
79 &9 o Yo fag o (sTewE) Wi
TSl IR i o Fer e o fory, ge
foened T&d HLal €1 THIOY I8 & THE < o — .
1 T 8 e ¥ (TR 12.1)1 7 llO \130 40 50 60\70
BERCIIR UED ﬁg O & w A Y 5x+y=100 x+y=60

FHEA | AMRfT12.1
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31d: &9 = w1 g &+ @

FETE &7 950 99 o foau s @ JRmeT gue & RO el X, y > 0 dfed
gl el g e Swafss & gETd & (A1 T &) el © STRfd 12.1 H
&5 OABC (SHIfehd) THE o foig qETd & 81 T &5 o Afafiem s &5 8 9
G &5 HEd B
AT T 9HE GO &5 oF 3id: 9N qA Hie b 9eft fog eyl oF gETd gd
FEAN T SHA 12.1 § GETA & OABC & id: IR 9o Tan & geft fog wmen
o GHTA B e wed Bl S o faw f6g (10, 50) WHEN %1 T YETd g
2 3 s wR 55 (0, 60), (20, 0) TR *ft B B

UM A & e w1 HE ff fig gHT T wea € SSew & fau fg
(25, 40) TEET 1 TG & 2l
TEAH /ST Head (GETd ) Be: G0 &5 | is f9g S 3 o &l s2ad 7H
(SAferhad a1 =FAH) <, T TAH T HEAM 2

39 B9 2@d § foh gETd &5 OABC ¥ W% foig (1) § (4) o # wed @i
Feliel 1 HIe H € R UH od fog ¥ ae we T R w9 Svd %o
Z.=250x+75y o kR A aTel fag i fFd YR F1d w3 1 Ta9 3 39 fefa
%1 T B o Ty 8 T qHEl ol STEnT S i o ek qumE aeenst w g
# o gt fagia (SMURYA) 21 39 T941 1 SUufd 39 T&ieh o fava-ogg 9 aed 2

T 1 W TR Uk ae Wi e o fg R GETE an (ST Sgys) € SR 6
o Z = ax+ by 32T Wl ©1 56 Z 1 Tk $52q9 HH (3Mfeshad a1 <gAq9) e Stel
el | Feiferd =R x 3R y s STefisholl gR1 o7e 81 9 98 gead I GHd &
& HH (M) W erafed g1 =feUl

T 2 A TR Uk sk WU THE o fod R GHTE &% € 99 Z = ax + by Sevd
e 21 3fg R URag &7 8 99 $899 Ho Z, R A <HT sifeshan 3R =Haq 7 T
2 3R 37 ¥ y&® R 4 (corner) Tog () w feora e 21

feoguit AR TIREG 7 9 S29F Fel H1 Afehad a1 AqH I w1 e T f
& Tehal g1 fR oft =g =g fomm™ ® df R o 4 fog w e =gy, (vg 1

AIER)

SWieR ST ¥ U (YET) & o i fag 0, A, B 3R C ® iR fogati o
faenier A T WA € 741 (0,0), (20, 0), (10, 50) 3R (0, 60) HHT: FFF fag T 7
& g fogetl W, Z 1 | T S B
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€ 39 YN B
TETE &9 % yi™ | Z % " uw
0 (0,0 0
C (0,60) 4500
B (10,50) 6250 €<— | =Afiehad
A (20,0) 5000

&a e s € o oge@e 1 feer Fis (10, 50) steiq 10 B IR 50
il o Bligd o sifushan @9 ghm|
7 fafu & fret o o1 gAfae €
1. Yfaw JumeE e s U &5 T HISe 3R STk S fagett (vid)
1 @ e 9 stean 3 W@t o yiaess fog i 11 W@istl &1 GHiEl w5
Fh 39 foIg 1 T Hifem)
2. S B Z=ax+ by 1 WM Yeieh shiAIE fag W A ity 7 R M SR
m, 9T & fagetl W eifeshad den =Aan 9 weiia e )
3. () v& gET &5 uReg €, M iR m, Z % eiferehad iR =9 A 2
(i) U fefa 4 S gETa & eraieg @l e Fefafaa fafy s swE s
4. (a) M Z I Afeehad 91 od © 9% ax+by>M §R < 1d-ael &1 i
fog gETa & | 7 92 ermen Z e sifrhan 9 Tl 2

(b) SE YHR, m, w1 Z H FAaH TH o § A ax + by < mER 9w gt
arefaet IR gETd & o FE fag swattss A ¥ oFen Z w1 S A
oM T 2

TH 79 F© ISR o gRI S fafy & 9_1 H1 T HA:

SETET0T 1 3TorE g T e 9iuree §uen &l gd St

=1 et o Sfara
X+Yy <50 .. (1)

* GETA & H w65 89 w1 @ wiE fag g @ S @ e & ufaesed fag @

w U HEh GHIRT TR #1 GETd & ufeg el Sl @ A a8 Tk 94 o ofdifd uReg
fohel ST Hehal B e 3H STufiEg whed €| ofuies § e B o gEwa e et off feen o
it &9 @ S S Hehal 2
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3Xx+y <90 .. 2)
Xx>0,y=>0 .. 3)
7 =4X+y 1 fhad AH TN hiferd:

o1 STehd 12.2 H SMIfehd &3 (1) ¥ (3) o el o e o g1 Muifa guma

& 21 9 Frdiert td © o gETa &% OABC WReig 81 SHieIY 6 Z 1 SAferehad HH
I & o fow e@ fag fafy &1 3w w3

@ fog ZF G| 9
(0,0) 0
(30,0) 120 ¢ | afeehaH
(20, 30) 110
(0,50) 50
3TTeRTd 12. 2

HH9 fagail 0, A, B @R C o Fenss swaw: (0, 0), (30, 0), (20, 30) 3R (0, 50) €l
39 e HIHE g WZ H AF a2
aa: fag (30, 0) W Z 1 stfrehad WM 120 21

IEE0T 2 sTerE fafy g fre Waw WA guen &l gd st
=1 el & Aald

X+2y>10 (D)
3Xx+4y <24 .. 2)
Xx>20,y=>0 .. 3)

Z =200 X+ 500 y <1 =AqH HHE A HITSTL

el SRfd 12.3 ® BHEfRd &, (1) ¥ (3) & Faul & fam gr fyifa gema
&5 ABC @ S uieig 81 4 fageil A, B @R C & Fewnss swaw: (0, 5), (4, 3) 3R
(0, 6) €1 B9 T fagafi W Z = 200X + 500y 1 & G H &
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Y o 8
1 @ fog | Z o 9 9
(0,5) 2500
4,3) 2300 <—| =TH
(0,6) 3000
(10,0)
X" +—t t t t t t t { X
o 1234567 N Sa-n
Y 3x+4y=24
3TTeRfd 12.3

ad: f§g (4, 3) W Z%h a9 AF Rs 2300 9 gl 21

IETE0T 3 ST fafy 9 f= wuEn i ' sifed:
= SeRidl o S
X + 3y <60
X+y=>10
X<y
Xx=>20,y=>0

7 =3X+ 9y 1 ZAq9 R Afushad A 716 Hiw)

.. (1)
.. (2)
.. (3)
. @)

T Hod Ued 89 (1) ¥ (4) d i Waw s@ibenei o Fehme o gHTd & w6
aTei@ Eied €1 GHTA &5 ABCD i 3fiehfd 12.4 | fe@rman w0 21 & ufiag 81

@ &g | 2% 9 we
Y Z =3x + 9y

A (0, 10) 90

B (5, 5) 60 <
C (15, 15) 180

D (0, 20) 180}e

(60,0

x+3y=60

TR 12.4
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fagelil A, B, C @R D& fadeniss et (0, 10), (5, 5), (15, 15) 3R (0, 20) €| 1€ &4 Z
o =ad 3R sifreran I 9 w0 % g wE fag fafa @ swE ww@ )
gt | g9 gETd & f9g B (5, 5) W Z 1 F[AAH A 60 W Hd B

Z 1 SAfehas W YO &5 o < e fagetl T C (15, 15) 3R D (0, 20) W
120 W e 21

froguit Tt SifSTT o Swis S0 §, e e fagel C 3R D, W 9HH g
& @t B, 21 ST fog ot stferehad 9 180 Sei=T e 21 Ut ferfeEt | < i
faget =i fem o1t W@Ee CD W Y& fag o1 C @ik D ot ts € aiferemad /M 39
g 8 36 feufa ¥ off ¥ T Ak I fig 98 =Aaw 99 s i #

TETEIUT 4 TeEE fafy g1 SR¥ weM Z = —50x + 20y 1 =Aad o fefafaa
eIl o STdTd Aq i

2X—-y=>-5 .. (1)
3X+y=>3 .. 2)
2x -3y <12 .. 3)
Xx>0,y>0 @

T 999 Teel B9 (1) ¥ (4) O o TG0 (e R YETd & T ST Wied
21 3Pl 12,5 ® QU & (Iifhd) f@man o 71 fiemon wifse f gum e
TIfEg 2l

319 &9 S fogstl | Z &1 79 ot I 3

Y 5
g 85 | Z = - 50x + 20y
(0,5) 100
(0,3) 60
(1,0) -50
(6,0) -300 < [T FH
N2
Y ,"7 8910 X
¥ (6,0)
3x+y=3 MR 12. 5
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TH HROM ¥ eH T i © b s 65 (6, 0) W Z 1 G HE 7 -300 2
1 0 HE Tohd € foh Z 1 a8 M -300 B2 A i for afz & afeg e
Al T Z 1 Fad HE A (W 2 W) Bl el 39 e ud © o gEa & sies
21 38T -300, Z 1 =<[aH O € o Tehar ® IR T ot 58 e o ey T
# o fory en frafafaa sl &1 e Eied @

- 50x + 20y < —300
ERIGY —5X+ 2y <—30
R Sife wifSTe fop eMei@ gr1 w et erefaet o gETd &5 o Swafts fag ® o @
21 =fe 3o swats f9g €, @9 Z 1 =a| WM -300 &l € ST, Z w1 S
A -300 AT

St fom amepfa 12.5 o fem@mn o 21 g’ien, Z =50 X + 20 y, %1 9Ed e o
e H =HaH 7 T/ R

IO SEELOT H T Y S B FWhd € fF Z =-50x+20Y, (0,5) W
fersham T 100 W@l €2 3Heh fou, Site sifeT o a1 — 50 X+ 20 y> 100 1 3@
T &5 o WY IwEtTs fag T 2

saretur 5 freafafad SeRidl o Sdd, Z = 3X + 2y 1 FAGHRI0] hifu:

X+y=>8 .. (1)
3X+5y<15 .. (2)
Xx=0,y=0 .. 3)

T IrEiemet (1) @ (3) &1 Ao Wifay (STehfd 12.6) 1 91 g GETa & 8?2
e TH il 2?2

T 12.6 § 9 A6 T Wbl ©
o T P g T 2 S wef s
T WY U Y Toh| 3Td:, AT Hl
gHT B e 2
feuuit 3T | foment fad=m &q oM™
T H Toh ¢ oIEeh ¥R W EH §9
Yaer dme THEE w1 e e
1 Jeoid H B

(1) GHTA &5 Hol Il g Bl 2
(2) SEYT Wad &1 STfYddn (A
JAqH) A GETD & & MY W
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(w1 W) feord g1 B1 A% SE9F Wor & & &iAE fag () ww @
AAfeshad (A1 =Aq9) 1 FIH H & d 9 fagen o fHem Al e @
oI g off TmE stfusan (a1 =Eaw) |3 S

[ oot 12.1]

e fafy 9 = e g geeet &1 ga St

1. T s1aqel o sidid Z = 3x + 4y 1 SAfIHaHiehior Hifad:
X+y<4,x2>0,y=20

2. 99 oYl & ST Z = — 3X + 4 y T FAGHRIIT HITT:
X+2y<8,3x+2y<12, x 2 0,y=>0

3. =1 oAt & SFad Z = 5x + 3y 1 AR Hifsa:
3X+5y £15,5x+2y<10,x 20,y=>0

4. T o0l & @A Z = 3x + Sy T FIATHRIT HiTST;
X+3y 23, X+y2>22,Xy=>0

5. T ool o SI@Td Z = 3x + 2y &1 FAGHRIT FHifeTC:
X+2y<10,3x+y<15,Xy=>0

6. T STal o AT Z = X + 2y 1 =IAHIRIU HitaT:
2X+Y23,X+2y2>26,X,yYy=>0

fe@men o 7 &1 =gae 7F < fogen @ eifee fageti w wfea & 2

7. T sE0Hl & AT Z = 5X+ 10 y 1 ATHRII TAT SATLThaeIenol Hifog ;
X+2y <120, x+y=>260,Xx-2y>0,X,y=0

8. T ool o @A Z = X + 2y T ZJATHIHIUT G SATIRAHRIT RIS
X+2y>100,2X-y<0,2X+y<200; X, y=>0

9. =1 Taul o STdld Z = — X + 2y 1 STferehadieRor Hifera:
X223, X+yYy2>25X+2y>6,y>0

10. =1 s1aqel o STdid Z = X + y &1 STehaHiehoT SHhifsr:

X-y<-1,X+y< 0, X,y 20

ofagifaes feuuit
fgda fava g #, @ g FaweH & g o+, Fad fe wget &t
Z[qH 9 W Afwar w1 T8, e woma fafy sifae | o)
e WomEE o & § WH WA 1 g9 &4l s L.Kantoro Vich @l
STHRET ALWMEN FL.Hitch Cock ¥ 1941 ® fohul 31 7 w@as &9 ¥ %1 fwam
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9 YA i GREET-HHE o AW § S T H 1945 § S St
G.Stigler = X@eh TR o1, o SFeia g2ad SAER Heell THE 1 o |
T 1947 § G.B. Dantzig 7 U <&ra qui fafyr st faueiem fafy o am @ wfag
2, 1 g fen S e W Seenet o wiHd W 9 gl S 1w
fafy 2

e womeE fafy W gRfees s e o RO 9 1975 | L.Katorovich 3R
STHRERT U T2 T.C. Koopmans 1 372 ¥M6 § Fidd R YR foha
T UReheT e 3TEvaeh WitedaX oh STNTHA ok |1 s &l Sl Sifedt qHes
o aer womE gfaty o SEEn § Sw ghg 8 @ 2

)

—_— e —

(2
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